
 

Mel, Martina and Pat have the same 
number of cards. 

  

 

 

 

Mel and Martina each give Pat a 
quarter of their cards. 

Pat now has 24 cards. 

How many cards do they have 
altogether? 

(You might find it helpful to draw a bar 
model) 

 

1 

KS2 Problem Solving Questions 
Friday 17th March 2017 

A toy shops sells these items. 

 

 

 

The bar chart shows how many of each 
item was sold last week. 

 

 

 
 

 

 

 

How much money did the toy shop 
make last week for these items?  
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Toy Aeroplane  £12 Toy Train     £23 Teddy   £8 


